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1: A customer has just deployed a new Communication Server 1000 Rls. 5.0 system. You have
been instructed to change the default Level 2 password to comply with the company's security
strategy.

What level password must you use to change the default Level 2 password?

A.Level 1 Password (PW1)

B.Level 2 Password (PW2)

C.Level 3 Password (PW3)

D.Limited Access to Overlays Password (LAPW)

Correct Answers: B

2: A customer has deployed a Communication Server 1000E Rls. 5.0 system at their site. Element
Manager is not yet available. When using the Command Line Interface (CLI) to configure the
system, you encounter the following system message:

OVL0000.

What is the meaning of this system message?

A.A telephone is disabled.

B.There is a checksum failure.

C.A user has already logged into the system.

D.The requested program is not in the tape directory.

Correct Answers: C

3: A customer has a Communication Server (CS) 1000 Rls. 5.0 system deployed. If using the
Command Line Interface (CLI) to communicate with the system, what command is used to log
into the system?

A.LOGI

B.REQ

C.LOGO

D.START

Correct Answers: A

4: A customer has a Communication Server (CS) 1000 Rls. 5.0 system and has requested the
addition of two new passwords for general service personnel.

If communicating with the system using the Command Line Interface (CLI), which Overlay (LD)
would you use to add passwords, assuming you have the appropriate access permissions?

ALD 15

B.LD 17

C.LD 22

D.LD 117

Correct Answers: B

5: A customer has a Communication Server (CS) 1000 Rls. 5.0 system. When adding a digital
telephone in LD 11, what four fields comprise the Terminal Number (TN) for this type of system?



A.CO - DID - FX - RAN

B.Loop - Shelf - Card - Unit

C.Power - Memory - CPU - UDATA
D.Tone - Transmitter - Detector - Card

Correct Answers: B

6: A customer has a Communication Server (CS) 1000 Rls. 5.0 system equipped with System
Errors and Events Lookup package 245, which provides the ability to display system messages on
screen. Which setting should the Multi-User Login feature be set to for the System Lookup
Message feature to work?

A.ON

B.OFF

C.LOADED

D.ENABLED

Correct Answers: A

7: A customer has deployed a Communications Server (CS) 1000 Rls. 5.0 system at their site.
You have been asked to add ten new IP telephones for sales department personnel. Which Overlay
(LD) is used to build a Virtual Superloop for IP telephones?

A.LD 14

B.LD 15

C.LD 97

D.LD 117

Correct Answers: C

8: A customer has a Communication Server (CS) 1000 Rls. 5.0 system equipped with System
Errors and Events Lookup package 245, which provides the ability to display system messages on
screen. When a system message is received, which procedure should they use to look it up it and
display it on the screen?

A.Enter the system message followed by <cr>.

For example, 4080 <cr>

B.Enter the system error code followed by <cr>.

For example, bug4080 <cr>

C.Enter err followed by the system error code and <cr>.

For example, err bug4080 <cr>

D.Enter err followed by the system error code and <cr>.

For example, LOAD errcde bug4080 <cr>

Correct Answers: B

9: You have received a customer work order requesting that five new digital telephones be added
to the sales department. The customer purchased a new Digital Line Card to support these
telephones. Which Overlay (LD) is used to find an unused card slot (LUC) for the new Digital
Line Card?

A.LD 02



B.LD 20
CLD21
D.LD 117

Correct Answers: B

10: A customer has deployed a Communication Server 1000 Rls. 5.0 system at their site. When
using the Command Line Interface (CLI) to add telephones, which Overlays (LDs) are linked to
eliminate the need for exiting one Overlay (LD) and entering another one?

A.LDs 10, 11, 20 and 32

B.LDs 20, 21, 22 and 32

C.LDs 14, 15, 16 and 32

D.LDs 32, 50, 57 and 95

Correct Answers: A



